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1. Yhgmp a, b U ¢ nppujul pYtpb wyhwhuhb &b, np o + % + 2 < 3: Wyugngt,
nn a + be < 2:

2. %Yhgnip B ninhn wilyniing ABC hwjuuwpuwupm@ mynubljnid Gowblyynibnig
nnipu plnpply B0 P Gtapl wybytiu, np ZPAC = 15° W LPCA = 30°: Qapliby
ZAPB-u U £/BPC-:

3. *hgmip 10 x 10 qanhwbh qubnuliuynp wnnuwlh jnipupubsjmp qubnunid
gnywd £ npujub puiowid: Swynbh E, np quanntiphg jnipupwisympnyd uypugyud
10-wbhy phyp pwdwiymu t 11-h b gnympynil mbh gnbt vt wymbwy, npmy

qnywd 10-wbhy phyp sh pudwiynud 11-h (phyp Jupnugymu E ytplihg hppl):
Muwngby, ph ynbwyitpmyd gngud pytiphg wnwybjugnybp pubhub Gh pudwi-
ynud 11-h:
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